Name:  _____________________________ (please print)

Signature: __________________________

ECE 3455 -- Quiz #6

MW 5:30-7:00 PM

December 1, 2004

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.

2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution that is not given in a reasonable order will lose credit.  Clearly indicate your answer (for example by enclosing it in a box).

3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  

4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.

5.  Do not use red ink.  Do not use red pencil.

6.  You will have 45 minutes to work on this quiz.

________________/20

Room for extra work

For the circuit given below, assume that the  for the transistor is 100, and that it is operating at room temperature.  Find the output resistance seen by the load RL in the passband.  

The transistor is biased in the active region.  
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For the circuit given below, assume that the  for the transistor is 100, and that it is operating at room temperature.  Find the output resistance seen by the load RL in the passband.  

The transistor is biased in the active region.  
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Solution:

[image: image3.png]We need IB 'FOP the “trgasistor moa(e/) Since

Y‘ﬂ~: _%_T_'__ Redvr‘md the de b;‘as Case,
+15§y] B.
s !uik] Toke t¢he Thev equivalent at the
R
A base) as
- 8.4
sk 470 n} VTH = 300} 75‘+9\’9\> ISl = a
~ISfuy ~1S{v} Ry = ’75‘[1:113}/ 22k = 17/kR)

@ next f QE





ECE 3455 -- Quiz #6 – December 1, 2004 – 5:30-7PM MW Shattuck Section Solution, Page 2

[image: image4.png]So) we Caan redvaw 7(0/‘ fAe olc CC(JeJ /‘n:er?f:‘nj

'H’\Q T}'\e\ieﬂ;V\ e?ui\}qleﬂf and r‘efo/ac:‘nj the

transistor  with ats /inear region mode/.

+).S‘[uj
)'7[/5)23 O 7[‘8 1§kn) KVL 3 es
E
e B§- oor IS¢v] - 8.a5v) -0.7fv] =
: . 13 (3
L = T (1763} + 16015, (0
- s (170k23) + 101 (1£62))
/ [3 So[ufnﬁ_’
=15y
. 6.1
IB = /lé’[[V] Y ’7/,/{2
TL\AS) at room fempe\/*a 'éume)
Y\fn— = Qg[mlfj .
S S = Y489 23

NOW‘)W‘Q Can dvraw ‘6’1’\2 qc €7M;Va/-€n'£' C|\I‘CMc~'é‘_

Ks=50lkn) b

V{‘f)@ fl?[k_fg

We want the Ou'ﬁpu‘é resistance Seea by the /OC(;[_
Remoue ‘21_ ) ge,'f U’; (‘f) :O) a~dl C‘af/p/y/ a ‘[‘QJ{'
Source, [Redravw aﬁa?n, Note that the f20{n]

resistor is In Series wrth a Curreat Source,

and. Can be Ignored.

The caf»acftors
muit be
Short circurts
fn the
Pq:&banok.





ECE 3455 -- Quiz #6 – December 1, 2004 – 5:30-7PM MW Shattuck Section Solution, Page 3

[image: image5.png]{03:
ollow
the e

have

We

- 1{u]
Ly = ~.

76&1@
— k))}ﬂz é?[mAj
(17k][ so -
(‘/S’L/+ ‘ o
Lb
L] ~
(JC: I’[kﬂ.}





_1163400809.vsd

